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Determine whether each relation is a function. Write yes or no.

17. D R 18.
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Graph each relation or equation and find the domain and range. Then determine
whether the relation or equation is a function.
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23. {(2,1),(-=3,0), 1, 5}

25. {(=2,5),3,7),(-2,8)}

27. {0, —1.1), (2, —3), (14, 2), (=36, 8)}
29. y=—5x
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Find each value if f(x) = 3x — 5 and g(x) = x2 — x.
6. f(-3) 47. B3 48. g(3)

9. f(%) 50. f(a) 51. g(5n)

52. Find the value of f(x) = —3x + 2 when x = 2.
53. What is g(4) if g(x) = 22 — 57





o' =18

M

BT —
et

2. (2,1, (-3,0, 1,5

25.((-2,5), 6,7, (-2,8)

27. (0, -1, 2, ~3), (14,2), (-36,8)
2.y=-5
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